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PART I: ACCESS TO INFORMATION FROM WRITTEN TEXTS (70 points)
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Read the text below and then answer questions 1-7.

Do you wake up easily in the morning? Then you are lucky. Some people are not so lucky. They have

a hard time getting out of bed.

The way you feel when you wake up depends on your "body clock". Our body clock is the system in
our body that controls when we wake up, when we go to sleep or even when we eat. Here are some

5 ideas to help your body clock work better so you can have lots of energy during the day. N =7 1A
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Wake up at the same time every morning (even on weekends!). Stretch your arms and legs (N JQ:/,TJ

before you get out of bed. s
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Open the windows and let the sunshine in. The light of the sun tells your body clock that it's

time to start the day.
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Do this exercise when you brush your teeth. Stand on one foot when you brush one side of
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your mouth. When you brush the other side, stand on the other foot. Stay focused so you don't
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fall. This exercise will help you wake up.
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Eat a healthy breakfast. It will give you lots of energy for the whole day.
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Go to sleep at the same time every night. Don't eat a lot or drink coffee close to bedtime. This
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will stop you from having a good night's sleep. A good night's sleep will help you wake up full
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of energy in the morning.
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Read the article below and then answer questions 8-13.

SQUARE WATERMELONS

—

/ .

From: Wikimedia Commons, rumpleteaser

I Ten years ago, Japanese farmers started growing square watermelons. People usually ask two

questions when they hear this: How do they grow them? Why do they grow them?

IT  So,how dothe Japanese grow square watermelons? It's not difficult to do. When the watermelon
is still small, they put a square box around it. The watermelon grows in the shape of the box as it gets

5 bigger.

IIT And why do the Japanese grow square watermelons? There are two reasons. First, they pack
the watermelons in square boxes. This makes it easier to send them to market. Second, many people
in Japan have small apartments and so their refrigerators are also small. The square watermelons fit

perfectly inside their small refrigerators.

10 IV Japanese farmers are now growing watermelons that look like hearts. Both these watermelons
and the square ones cost much more than regular watermelons. So, some people may not be able to

buy them.
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Answer questions 8-13 in English according to the article. In questions 8, 10 and 13, circle
the number of the correct answer. In the other questions, follow the instructions.

8. What do we learn about the watermelons in paragraph 1?
i)  How long it takes to grow them.
ii) Why people enjoy eating them.
iii) What is different about them.
(5 points)

What is "not difficult to do" (line 3) 7 (paragraph II)

(5 points)

ANSWER:

10. Why do the Japanese farmers use square boxes? (paragraph II)

i)  To change the shape of the watermelons.
ii) To help the watermelons grow faster.
iii) To make the watermelons bigger.

(5 points)

11. Why is it easier to send square watermelons to market? (paragraph IIT)

ANSWER:

(5 points)

12. Why may Japanese people buy square watermelons? (paragraph I1I)

AN SR L womscssmemmmuribemsrsrssmess bbbt s assms s et i pen s e s i s e e RIS ;
(5 points)

13. Some people will not buy the new watermelons because (-). (paragraph IV)
i)  their shape is different
i1)

iii) they are difficult to find

they cost a lot of money

(5 points)
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Instructions

You are about to hear the passage A Guide to Biking.

TWICE.

The passage will be broadcast

Before the first broadcast, read questions 14-19.

ES

It is best to start answering the questions after the first broadcast of the passage.
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Answer questions 14-19 according to the broadcast. In all the questions circle the number of the

correct answer.

14.

15.

16.

A GUIDE TO BIKING

"Be Safe" 1s the name of (—).
i)  a group of bike riders
1) aradio program

1) a school for bike riders

Bike riders should use sidewalks only when (-).
i)  there are no people on the sidewalk
ii) there is a special place for bikes

iii) there are many cars on the road

What advice does Jane give bike riders? She tells them (-).

i)  toride in the middle of the road
ii) to be careful about parked cars

1ii) to listen to quiet music while riding
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